
? 









Statements :

All frocks are pants.

100% shorts are frocks.

Some jackets are pants.

Conclusions :

I. All pants are shorts.

II. All shorts being jackets is a 
possibility.

कथन: 
सभी फ्रॉक पैंट हैं।

100% शॉटट्स फ्रॉक हैं।
कुछ जैकेट पैंट हैं।

ननष्कर््: 
सभी पैंट शॉटट्स हैं।

सभी शॉटट्स के जैकेट होने की

संभावना है।



Statements :

All frocks are pants.

100% shorts are frocks.

Some jackets are pants.

Conclusions :

I. All pants are shorts.

II. All shorts being jackets is a 
possibility.



Statement: Try, try until you succeed.

Conclusion:

(I) You can not succeed until you try.

(II) Success is destiny.

कथन : कोशिि करें , सफल होने तक प्रयास करें ।

ननष्कर््:
(I) आप तब तक सफल नह ीं हो सकते जब तक आप कोशिि नह ींकरते।

(II) सफलता भाग्य है।



Which number will replace the question mark ?

(A) 70 (B) 64
(C) 62 (D) 68

T R H

D M W

48 62 ?



Find the triangle  (?)

1. 30
2. 28
3. 26
4. 24



Find the missing  :-

1. 9
2. 6
3. 3
4. 7

3 1 4

5 4 7

2 8 ?

38 81 74



Find the missing  :-

1. 380
2. 405
3. 320
4. 430

12 8 9

3 4 5

432 256 ?



Find the Rectangle   :-

1. 23
2. 25
3. 27
4. 28



Find the option which should replace (?)

P = - Q = *
R = ÷ S = +

15 Q 3 P 25 R 5 S 8 = ?

A. 40
B. 48
C. 52
D. 46



Find the missing  :-

1. 9
2. 4
3. 3
4. 0

9 6 1

4 4 1

9 0 ?



Find the missing  :-

1. 110
2. 120
3. 130
4. 140

21 56 70

45 87 84

115 180 ?



Find the missing  :-

Ramanujan : Mathematician :: Charak : ?

रामानुजन: गनितज्ञ :: चरक:?

1. Scientist / वैज्ञाननक

2. Architect / वासु्तकार

3. Physician / नचनकत्सक

4. Astronomer / खगोलनवद



Find the missing  :-

1. S
2. T
3. W
4. Z



Find the missing (?)

4 @ 5 = 209

6 @ 7 = 601

8 @ 2 = ?

(A) 620

(B) 495

(C) 540

(D) 536



Find the missing  :-

1. 801
2. 216
3. 144
4. 288

7 6 5

2 3 3

89 ? 57



Find the missing (?)

a_b_aad_ca_dbc_adb_a

1. dcabca

2. dbcaca

3. dcbaac

4. dcabac



Find the missing (?)

96 : 54 :: 89 : ?

1. 76
2. 72
3. 67
4. 64



Find the missing (?)

1. 53
2. 54
3. 55
4. 56

7 8 9

24 ? 45

5 3 6



Find the option which should replace (?)

11, 13 , 17 , 23 , 31 , 41 , 53 , 67 , 83 , ?

(A) 101

(B) 97

(C) 110

(D) 100



Find the missing  :-

9 : 711 :: 8 : 496 :: 6 : ?

1. 200
2. 204
3. 215
4. 210



In an examination, a student scores 4 marks for every correct answer and

loses 1 mark for every wrong answer. If he attempts in all 60 question and

secures 130 marks, the number of question he attempts correctly, is
एक परीक्षा में, एक छात्र प्रते्यक सही उत्तर के नलए 4 अंक स्कोर करता है और हर गलत

उत्तर के नलए 1 अंकखो देता है। यनद वह सभी 60 प्रश्ो ंमें प्रयासकरता हैऔर 130 अंको ंको
सुरनक्षत करता है, तो उस के सही प्रश्ो ंकी संख्याक्या होगी-
(A) 35 (B) 38

(C) 40 (D) 42


